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01. Which acid is found in ant stings? 
चींट% के डकं म+ कौन-सा अ2ल पाया जाता है? 

(a) ethanoic acid / ईथेनोइक अ2ल 

(b) hydrochloric acid / हाइ?ो@लोAरक अ2ल 

(c) Sulfuric acid / सCDयुAरक अ2ल 

(d) formic acid / फॉHमIक अ2ल 
 
02. What is the study of different types of tissues called? 
JवHभMन Nकार के ऊतकP के अQययन को @या कहा जाता है? 

(a) Cell Biology / कोHशका जीवJवSान  

(b) cell physiology / सेल Tफिजयोलॉजी 
(c) Cytology / साइटोलॉजी 
(d) Histology / ऊतक JवSान 
 
03. According to which of the following principles does a rocket work in space?  
Vन2न म+ से Tकस HसWधांत के अनुसार कोई रॉकेट अंतAरY म+ कायI करता है? 

(a) Theory of momentum conservation  / संवेग-संरYण का HसWधांत  

(b) Principle of conservation of mass  / \]यमान-संरYण का HसWधांत 

(c) Principle of energy conservation  / ऊजाI-संरYण का HसWधांत 

(d) Principle of conservation of speed  / गVत-संरYण का HसWधांत 
 
04. The Bhopal tragedy was the result of which gas leak? 
भोपाल ^ासद% Tकस गैस के Aरसाव का पAरणाम था? 

(a) sodium isothiocyanate / सो`डयम आइसोथायोसायनेट 

(b) Potassium isothiocyanate / पोटैHशयम आइसोथायोसायनेट 

(c) Ethyl isocyanate / इथाईल आइसोसायनेट  

(d) Methyl isocyanate / Hमथाईल आइसोसायनेट 
 
05. Which one of the following is not alkaline?  
Vन2नHलbखत म+ से कौन सा एक Yार%य (अCकेलाइन) नह%ं है? 

(a) sodium  / सो`डयम 

(b) Potassium / पोटैHशयम 

(c) Lithium  / ल%fथयम 

(d) Sulfur  / सCफर 
 
06. Fill in the blank with the most appropriate option. Ethanol is denatured to ________. 
Aर@त gथान म+ सबसे उपयु@त JवकCप भर+। इथेनॉल का ________ के Hलए JवकृVतकरण होता है। 

(a) To increase its stability / इसकl िgथरता म+ वWृfध करने  

(b) making it unsuitable for drinking / इसे पीने के Hलए अनुपयु@त बनाने 

(c) making it suitable for drinking / इसे पीने के Hलए उपयु@त बनाने 
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(d) making it suitable as antimicrobial / इसे रोगाणु-रोधक के mप म+ उपयु@त बनाने 
 
07. Hard cell walls are found in which of the following tissues? 
Vन2न म+ से Tकस ऊतक म+ कठोर कोHशका HभJo पायी जाती है? 

(a) Aerenchyma  / एरेनकाइमा 
(b) Parenchyma / पेरेनकाइमा 
(c) Sclerenchyma / g@लेरेनकाइमा 
(d) Collenchyma / कोलेनकाइमा 
 
08. Which of the following is not a simple permanent tissue? 
Vन2न म+ से कौन सा सरल gथायी ऊतक नह%ं है? 

(a) Survivor / जीJवतक 

(b) Xylem / जाइलम 

(c) Collenchyma / कोलेनकाइमा 
(d) Sclerenchyma / g@लेरेनकाइमा 
 
09. Starfish belong to the group ___________. 
 gटारTफश ___________ समूह से संबंfधत है। 

(a) Echinodermata / एकाइनोडमाIटा 
(b) Annelida / एनेHलडा 
(c) Porifera / पोAरफेरा 
(d) Nematoda / Vनमेटोडा 
 
10. What is the process of creating a better adapted environment for organisms to live and grow 
more? 
जीवP Wवारा जीने के Hलए और अfधक वंशवWृfध के Hलए बेहतर अनुकूHलत वातावरण बनाने कl 
NTrया को @या कहते हs? 

(a) Natural selection / NाकृVतक चयन 

(b) Change / पAरवतIन 

(c) Recombination / पुनः संयोजन 

(d) Non-Random Matting / नॉन-रsडम मैuटगं 
 
11. A car falls from an outcrop and lands in 0.4 seconds. What is its speed while hitting the ground? 
(Suppose g=10m/s2 ) 
एक कार आउटrॉप से fगरती है और 0.4 सेकंड म+ उतरती है। जमीन से टकराते समय इसकl गVत @या है? (मान 

ल%िजए g=10m/s 2 ) 
(a) 4 ms-4 
(b) 4 ms-2 
(c) 5 ms -1 
(d) 4 ms1 
Given, time taken(t) = 0.4 second, acceleration due to gravity(g) = 10ms-2 , initial speed (u) = 0 ( As 
car is under free fall ) and final velocity on striking the ground =  v   
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Using equation of motion, v = u +gt   
v = 0 + 10 × 0.4   
v = 4 ms-1 

 
12. Which component of blood transports food, CO2 and nitrogenous waste? 
र@त का कौन सा घटक भोजन, CO2 और नाइwोजनयु@त  कचरे का पAरवहन करताहs? 

(a) White blood cells / सफेद र@त कोHशकाएं  

(b) blood platelets  / र@त xलेटलेyस 

(c) red blood cells / लाल र@त कोHशकाएं  

(d) Plasma / xलाzमा 
 
13. Which of the following is an idea that new species have evolved due to their defined change? 
Vन2नHलbखत म+ से कौन सा वह Jवचार है Tक नई NजाVतयP का Jवकास उनके पAरभाJषत पAरवतIन के 
कारण हुआ है? 

(a) Natural selection / NाकृVतक चयन 

(b) Mutation / उ|पAरवतIन 

(c) Recombination / पुनस}योजना  

(d) Non Random Matting / नॉन रsडम मैuटगं 
 
14. The creatures of the Sangha are exclusively living beings free from the sea. 
संघ के Nाणी अनMय mप से समु\ म+ मु@त जीवन जीने वाले Nाणी हs। 

(a) Nematoda / Vनमेटोडा 
(b) Churnapravar (Malaska) / चूणINावार (मालgका) 
(c) Arthropoda / आथ~पोडा 
(d) Schuller / शूलचम� (इकाइनोडम+टा) 
 
15. From the given picture of the digestive system, identify the part labelled as gastric gland. 
पाचन तं^ के uदए गए fच^ से जठर �ंfथ के लेबल वाले भाग कl पहचान कर+। 

 
(a) A 
(b) B 
(c) C 
(d) D 
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16. The SI unit of electrical resistivity is 
JवWयुत NVतरोधकता कl SI इकाई है - 
(a) Ohm-meter / ओम-मीटर 

(b) Ohm / ओहम 

(d) Coulomb / कूल2ब 

(d) Ampere / ए2पीयर 
 
 17. Assertion - Antacids are recommended when a person is suffering from indigestion, / जब 

]यि@त अपच से पी`ड़त होता है, तो एंटाHसड कl HसफाAरश कl जाती है, 

        Reason - it is assumed indigestion is caused due to rise in pH of stomach / @यPTक यह माना जाता 
है Tक अपच पेट के पीएच म+ वWृfध के कारण होता है   

(a) Assertion is correct and reason is correct/ अHभकथन सह% है और कारण सह% है  

(b) Assertion is correct but reason is wrong/ अHभकथन सह% है लेTकन कारण गलत है  

(c) Assertion is wrong and reason is wrong/ अHभकथन गलत है और कारण गलत है 

(d) Assertion is wrong but reason is correct/ अHभकथन गलत है लेTकन कारण सह% है 
 
18. Light-emitting diode (LED) is used in electronic devices, such as television emits............  
Nकाश उ|सजIक डायोड (एलईडी) का उपयोग इले@wॉVनक उपकरणP म+ Tकया जाता है, जैसे Tक 
टेल%Jवजन उ|सजIक ............ 
(a) Ultraviolet rays / पराबsगनी Tकरण+ 
(b) X-rays / ए@स-रे 

(c) Radio waves / रे`डयो तरंग+ 
(d) Visible light / ��य Nकाश 
 
19.  A force of 20 N is applied to an object and it accelerates with an acceleration of 2 m/sec². 
Calculate the mass of the object. 
एक वgतु पर 20 N का बल लगाया जाता है और यह 2 m/sec² के |वरण के साथ |वAरत हो जाती 
है। वgतु के \]यमान कl गणना कर+। 
(a) 200 kg 
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(b) 40 kg 
(c) 20 kg 
(d) 10 kg 
 
20. _______________ Is not a compound? 
__________ एक यौfगक नह%ं है? 

(a) Lead / ल%ड 

(b) Chalk / चाक 

(c) Hydrogen sulphide / हाइ?ोजन सCफाइड 

(d) Sulphur dioxide / सCफर डाइऑ@साइड 
 
21. A mixture of sand and sugar is an example of ___________ ? 
रेत और चीनी का Hम�ण ___________ का उदाहरण है? 

(a) Heterogeneous mixture  / Jवषम Hम�ण 

(b) Colloidal solution / कोलाइडल समाधान 

(c) homogeneous mixture / सजातीय Hम�ण 

(d) Suspension / Vनलंबन 
 
22. Rusting of iron is a common example of which? 
लोहे म+ जंग लगना Tकसका सामाMय उदाहरण है? 

(a) Physical change / शार%Aरक पAरवतIन 

(b) Exothermic change / ए@ज़ोfथHमIक पAरवतIन 

(c) Heat change / गम� पAरवतIन 

(d) Chemical changes / रासायVनक पAरवतIन 
 
23.  Give the missing term. 
लुxत पद द%िजए। 

 
(a) Spinal cord /र%ढ़ कl ह�डी 
(b) Brain /मिgत�क 

(c) Cranial nerves /कपाल तं�^का 
(d) Relay nerves /Aरले तं�^काएं 
 
24. Which element has two electrons in its outermost shell? 
Tकस त|व के सबसे बाहर% कोश म+ दो इले@wॉन होते हs? 
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(a) Potassium / पोटेHशयम 

(b) Lithium / Hलfथयम 

(c) Calcium / कैिCशयम 

(d) Sodium / सो`डयम 
 
25. Tissues present around the edges in a lateral manner and giving rise to growth in the girth of the 
stem is called:  
TकनारP के चारP ओर पा�वI mप म+ मौजूद ऊतक और तने के घेरे म+ वWृfध को जMम देने वाले ऊतक 
कहलाते हs: 
(a) Lateral meristematic tissue /  पा�वI Jवभzयोतक ऊतक 

(b) Cambium / कैि2बयम 

(c) Apical meristematic tissue / एJपकल मेAरgटेमेuटक ऊतक 

(d) Vertical meristematic tissue / ऊQवाIधर Jवभzयोतक ऊतक 
 

 


